[ [BEFTFAERE - k2] 203F 128

EKR2 Q023 FE 11 BERASET 2HBD - HEBRKRS)

OfEAME (LXKEDFERKEICLVERE)

EAEREN 16 MET 3,150 9
TmMHs 40 mMET 165
—— Nmns  0mMET 175 /g
e 61 MH> 100 MET 185 [
ImICOE - -
101 MA S 200 MET 205 [
201 MH5 225 [

OTFKA—%—fERR

TKAX =9 —(HPKF)ICIWVEET HEIX. LELDFERABHCX—F —fERREMRELET.

(S THKEX—5—(ERAR
13 mm 280 M4
20 mm 360 4
25 mm 420 /4
30 mm 960 F4
40 mm 1,200 4
50 mm 2,240 M
v

| (BUE% FAERE - KEHI] 2024 5 2 B5ERD (2024 F 1 BEASET 21 B9 - HERRS)|

OfERRE (LKEDERKEICLVERE)

HAKFERAP 16 MET 3,300
Tmns  0nET 190 9
I Nmns 0 mMET 200 9
e 61 mA S 100 MET 210
1 mIcOE ; -
101 MH S 200 MET 230
201 MH5 250 [

OTFKAX =5 — (£

TKAX=Y—(HFKF) ICIVEET 5/ IE LEEDERBICA -5 —FEAMZEMELEX T,

(S THKEX—5—(ERAR
13 mm 300 4

20 mm 400 4

25 mm 460 M

30 mm 1,040 [

40 mm 1,300 4

50 mm 2,440 4




R M BV O TFKERS]

(Gt561] ERKERIRERE QNLBDHEY - HENKR) TKX—9-—DEREDNES

fEARKE

2023 F 12 A2 (10-11 AfE
A9) - tUERIDEE

2024 F 2 BEE kD (2023F 128 -
20241 RIERSD) - eUERDF
&

103 ZAX— IV 3,150 4 3,300 3 (150 ADEZE)

20X ZAX—HIV 3,810 9 4,060 3 (250 FIDIEZE)

303 ZAX—HIV 5,460 M 5,960 3 (500 FAD1EZE)
(>%1) (>%2)

40 SIAX— BV 7,110 H 7,860 F3 (750 FA(DIEZR)

(%1)

EXERARE 2 AP (6 METOFERAZZT)=3,150 [
BErte= (1TmH5 40 mET, 1Tmdfzb 165 H] 165 FAx (30-16) =2,310 M
(oErls] EARE 3, 150 FA+EaRls 2,310 =5, 460 F

(3%2)

EXNE2NAP(6 METHOFERESEL) =3,300
BErte= (1TmH5 40 mET. 1Tmd/zv 190 F] 190 FAx (30-16) =2, 660 F
(KERE] EA8E 3,300 F+E@ERE 2, 660 F3=5, 960 [




